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This is how the text reads; X3P T°9% X 7''93 IR IRWYW 7570 @' N

Overview

777 1 derived from the (7Mwy1) 109, that a 7"°2 X2 AWIWA 700 is MWD (while
w"9 derived from nnwya that 2w MRWIYW 221w even by 2127 11°R 71 9127 1K 771). The
X3 answers why "1 does not derive the w27 of °"1 from 7nwy2. There are two
different MIXD7°) and 2°vW»s in this answer. NY0IN maintains that according to W',
we do not need a 109 for a 7"°2 DRMT2 AWYY T to teach us that he 1s MwY; it is
obvious!
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And we are not o3, as >"w explained' that @' follows his ruling that a 7o

7''32 NRTTR IRWYW is 2997732 The reason *"w» is incorrect -
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For the mw» in the first P75 of N noon explicitly states,® ‘he went and did
according to their instructions; whether they brought their atonement, or

whether they did not, etc., the ruling is -
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w'"9 exempts the individual from bringing a j27p,” and the X ) explains the
reason, because one who depends on 7''%2 is considered coerced.

Summary
¥"7 maintains, according to M0N, that 7"°2 DXL ARYYY 7717 1S 7LD

Thinking it over
What would be the ruling in a case where the 2% did not follow the mistaken ruling
of the 7"3, only an individual followed it; is he 21 a J2p or not?°

Pm a2,

2 This is the X073 in our MM,

3 The case there, as stated explicitly in the 71wn (and explained by >"wn), that 7"*2 issued an incorrect ruling (and the
T2%7 217 followed their ruling) and then 72 realized their mistake and rescinded (their ruling), but one individual
(who was not aware that they rescinded) went and followed their mistaken ruling, in this case w"7 is 20 regardless
whether the 712% brought their 1277 or not. See ‘Thinking it over’.

437 R AN 27 explains there AW X177 7" MW 2RI ,w"7 0"A. The words X177 01X seem to be an addition (or
explanation) of maoin.Therefore since he is an 01X (it was not his fault at all, since 7"2 initially ruled that it is
permitted), it is obvious that we do not need a 105 to exempt him from a j27p.

5 See MW 1.
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